
MS 15

MS 6

GSW-22

MS 2.3

MS 2

MS 8

MS 3

GSW-23

M12 THRD

M3x16 
NYLON 

M
6 X 20

M
6 P

LA
IN

 W
A

SH
E

R
¼

“ LA
R

G
E FLAN

G
E W

A
SH

ER
M

6 N
Y

LO
C

K

M
6 

fix
in

gs

M5x12

 Fig 1 
M12 FULL NUT & 
PLAIN WASHER

M6 FIXINGS
DOME NUT NYLON 77

SPRING WASHER
HALF NUT

PTFE WASHER
¼ LARGE FLANGE WASHER

M4x12

Studding all bright zinc plated.

Metric fasteners all bright zinc 
plated.

Engineering Department

Roy Goodier

Microseal Plus  Parts Assembly

©                 Labelling Systems Limited

SIZE Date DWG NO REV
Metric 04/08/2009 Microseal Plus Assembly 6

SCALE NTS In House SHEET 1 OF 1
PL-12

MS 16

 

M
S 

17

 
M

S 
17

MS 14

MS 5 upper

GSW 14

MS 5 lower

M6x25 C/S

PL-04

PL-02PL-10

M5x6

MS 2.4

M4X12

M4X20

GSW-18
PTFE

GSW-14 
Element 500 
watt 240vac

M3x12 C/SUNK

M3x20

M3x12

PL-03

M4x10

M4x6

MS 5 upper

See Fig 1 
& Fig 2

GSW 16 / 17 -S

Silicone pressure pad

ffl ffl

Toggle Arm

Turn nut anticlockwise to 
increase pressure, then 
lock into place using hex 

screw (2 off)

Adjust the two M12 nuts so that 
there is equal pressure at the front 
and rear of the silicone pressure 

pad (GSW16-S)

Heat Plate

Fig 2
Revision For Later Machines

M6 Nylock

SPRING 
HOUSING

MS 12
M5x15 C/SUNK

M6


